For Pierce and Flange
Aerial Cam Unit General Description of UCNBK

( OUTLINE OF UCNBK )
+ High rigidity because of the box structure to keep the Hl UCNBK Structure and Assembly / Disassembly
slider.
+ V-shaped guide.
+ 65, 100 and 200mm are available for the mounting width. UCNBKGSE@
+ Availables angle is 0° to 70° at increments of 5°. 88“5@88 ®
UCNBK65,200:® '
UCNBK100:@)
H Option of UCNBK
@ Key Specification (-K)
UCNBKG65 UCNBK100/200
LKU25-100 (with 2-M8 bolts) LKU32-50 (with 3-M8 bolts)
100 14
3 50 =
50 ‘ 9 ~ ¢
5 58 : ©
53 NI Q% g T Fod-
i =t - By —
3| S 12 sl
3, nZN
@ Disassembly method of UCNBK
1) Loosen hexagon socket head bolt (@) and remove plate (UCNBK65:(2 UCNBK100:(9 UCNBK200:13)
@ Metric Key Specification (-KA) and dowel pin (®).
UCNBK100/200 . .
: 2) Loosen hexagon socket head bolt (©) and remove stopper plate (UCNBK65,200:® UCNBK100:@).
LKE25-32-50 (with 3-M8 bolts) )
3) Pull and remove cam slider (D) from cam holder (3) to the rear.
50
125, @ Assembly method of UCNBK
53 1) Assemble components in the reverse order of disassembly.
gEEZ »Make sure that there is no foreign matter on the sliding area and assemble components.
*The clearance between the cam slider and the cam holder is controlled. Match the stamped UCNBK
serial number on the holder and slider before assembly. 65
*When cam is disassembled and then reassembled, please do not forget to assemble all bolts
737 provided. 738
Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.



799

Aerial Cam Unit

¢ FOR PIERCE AND FLANGE

)

/
UCNBK200-00

T | Working Force kN(tonf)Spring Force N(kgf)| Return | Slider
ragle WOSrE(quaFrgrce W cﬁlllpr\'uagcl’erce Initial Final Force | Weight | Catalog No. W 6
(| I
(onemillio?l strokes) (300,000gslrokes) Load | Load | N(kgf) kg
93.1 186.2 626.0 | 5634.0 7119
28.3 (9.5) (19.0) | (639) | (574.9) | (726.4) | 260 | UCNBK | 200 | 00
Q Order ‘Catalog No.H w ‘—‘ [} ‘
UCNBK 200 — 00
N AN Option e (&3 For key specification,
l" Option  coge Specificiiigy refer to page 737.
K Key attached for holder.
KA Metric key attached for holder.

(“ order UCNBK200 - 00 - K

Refer to page 389 for detailed specifications of
tapped holes and dowel pin holes (prepared

hole, finish hole) for retainer.

Wl Table of Components

225+0.05
20 200 4-$18-926
@ 32H7 2-$16H7
6
C‘j i L N
SEO 7
o]
J O
40 100 |
O | ol ¢
ol o j =] #H Q8
b o e I — * 188
O | 517 7
E 7
60+0.05 6.3
17 240
&
6.3, \/
o| ©
al € (,,L . 216
@3 200(W)
— 5
G s 3 |
9 | 283 [© ‘
« ITravel i
o E < 8
& 5 T
N 3 |
o——N <8 —
(=]
()]
8 8|
63 @
20_ 70
4:418:926 a)orl o0 2-#16H7 ECam Diagram

6.3

260
230+0.02

W

28.3

No.| Description |Qty/Material and Remark
(1 |Cam Slider 1 |FC250 with Graphite
(2 |Cam Driver 1 |FC250

(3 |Cam Holder 1 |FC250

@ |Upper Plate 2 |845C with Graphite
(®) |Positive Return Follower| 2 |S45C(1045)

(® |Stopper Plate 1 |S45C(1045)

(@ |Spring Guide Pin 4 |SCM435

Coil Spring 4 |TM30x 175

(9 |Stopper 4 |Urethane

Cam Bottom Slide Plate| 1 |S45C(1045)

(1 |Cam Bottom Guide Plate| 1 |Bronze with Graphite
(2 |Lower Plate 2 |Bronze with Graphite
@ |Plate 2 [S45C(1045)

(9 | Driver Plate 2 |Bronze with Graphite
22 |Screw Plug 2 |S45C M12

28.3

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

m Bolts for assembly are not indicated.

M Spring Diagram

*Spring used
*Spring constant
*Guideline of spring durability

TM30-175 (4 piece)
31.33N/mm (3.19kgf/mm)
500,000 strokes

a : Spring Force at punch retraction of 5 mm
e : Spring return amount when the punch returns 5 mm

Final 5639.4
Load (575.1)
o _4749.6
(483.6)
Initial _626.6
Load (63.9) 11
Length at final load 130 e=7.1
Length at initial load 170 Initial deflection 5
Free length 175
M Space for removing

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

UCNBK
200

800



Aerial Cam Unit

¢ FOR PIERCE AND FLANGE ) E
R Working Force kN(tonf)|Spring Force N(kgf)| Return | Slider
JenBrenomes Travel | Stndard | Alowable | initial | Final | Force | Weight | CatalogNo. | W )
S Working Force (Working Force N(kgf) kg
225+0.05 (one millon strokes) | (300,000'strokes) | Load Load
4-$18-$26 93.1 186.2 626.6 | 5639.4 | 7675
200 2-$16H7 28.3 ©5 | (190 | (639) | (575.1) | (7831) | 04 | UCNBK | 200 } 05
° O - [Catalog No.|[ W |- o |
T | gi & Order .
N UCNBK 200 — 05

For key specification,
refer to page 737.

Option

§'é .
u Option Code

Specification

210
190
180+0.02
230
260

K Key attached for holder.

KA Metric key attached for holder.

order  UCNBK200-05- K

Refer to page 389 for detailed specifications of
tapped holes and dowel pin holes (prepared
hole, finish hole) for retainer.

17|
S 3
S

g 9 %] ETable of Components M Spring Diagram
r P : *Spring used TMB30-175 (4 piece)
o Desprlptlon s, Mate"a! A Remark *Spring constant  31.33N/mm (3.19kgf/mm)
I: @ |Cam Slider 1 |FC250 with Graphite eGuideline of spring durability 500,000 strokes
9 (2) |Cam Driver 1 |FC250
a : Spring Force at punch retraction of 5 mm
o « E @ |Cam Holder 1|FC250 - - e : Spring return amount when the punch returns 5 mm
@ @ |Upper Plate 2 |S45C with Graphite

(®) |Positive Return Follower| 2 |S45C(1045) Final 5639.4

© (® | Stopper Plate 1 [S45C(1045) Load (575.1)
(@ |Spring Guide Pin 4 |SCM435 47496
Coil Spring 4 |TM30x 175 & 483.6)
(© |Stopper 4 |Urethane Initial  626.6
Cam Bottom Slide Plate| 1 |S45C(1045) Load ™ (63.9) [

6.3 J 1 |Cam Bottom Guide Plate| 1 |Bronze with Graphite Length at final load 130 e=7.1
(2 |Lower Plate 2 |Bronze with Graphite Length at initial load 170 Initial deflection 5
@ |Plate 2 |S45C(1045) Free length 175
(9 | Driver Plate 2 |Bronze with Graphite
22 |Screw Plug 2 |S45C M12 ESpace for removing
m Bolts for assembly are not indicated.
©
i 3\
\ #1617
4-$18-$26
UCNBK
200
\_ J
801 802

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved. Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.



Aerial Cam Unit
( FOR PIERCE AND FLANGE )

g N Working Force kN(tonf)| Spring Force N(kgf i
UCNBK200-10 2254005 Travel orking Force kN(tonf) P".n.g orce .( of)| Return S||fjer
Standard | Allowable | |nitial | Final | Force | Weight | CatalogNo. | W 0
20, 200 4-$18-426 S Working Force Working Force N(kaf K
(one million strokes) | (300,000 strokes) | Load Load (kgf) 9
E ‘ = 2416H7 93.1 186.2 626.6 | 5639.4 7066
® Seny . . ) )
i Feit 333 9.5) (19.0) | (63.9) | (575.1) | (721.0) | 248 [ UCNBK | 200 [ 10
sl [Catalog No.|[ W |- & |
‘ R Order
(W : Lo UCNBK 200 — 10
40 100 g
| i I N AN Option N (&3 For key specification,
28 F+—H— o3 g 8 k" Option Code Specificgigy refer to page 737.
E 3 25
E 3 | K Key attached for holder.
Ol T R KA | Metric key attached for holder.
60+0.05 63
17 240

Qe o UCNBK200-10-K

Refer to page 389 for detailed specifications of
tapped holes and dowel pin holes (prepared

hole, finish hole) for retainer.
W Table of Components M Spring Diagram
P : *Spring used TMB30-175 (4 piece)
o Degcrlptlon s, Mate"a! A Remark *Spring constant  31.33N/mm (3.19kgf/mm)
S D @ |Cam Slider 1 |FC250 with Graphite *Guideline of spring durability 500,000 strokes
- b (2 |Cam Driver 1 |FC250
= a : Spring Force at punch retraction of 5 mm
8 % Eam Hs:der ; 22220 h Granh e :Spring return amount when the punch returns 5 mm
N pper Plate 5C with Graphite
(®) |Positive Return Follower| 2 |S45C(1045) Final 5639.4
(® |Stopper Plate 1 [S45C(1045) Load (575.1)
(@ |Spring Guide Pin 4 |SCM435
Coil Spring 4 |TM30x175 .
(9 |Stopper 4 |Urethane Initial 626.6
JAN 60 N . Cam Bottom Slide Plate| 1 |S45C(1045) Load "(63.9) [
' I e (1 |Cam Bottom Guide Plate| 1 |Bronze with Graphite Length at inal load 130 e=6.0
(2 |Lower Plate 2 |Bronze with Graphite Length at initial load 170 Initial deflection 5
20 70 13 |Plate 2 |S45C(1045) Free length 175 !
4-818-826 (551005 2. 416H7 (4 | Driver Plate 2 |Bronze with Graphite .
63 22 |Screw Plug 2 |S45C M12 ESpace for removing
HECam Diagram m Bolts for assembly are not indicated.
N
5 8
(=] +
g g S Y
33.3
UCNBK
200
-
803 804

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.



805

Aerial Cam Unit

¢ FOR PIERCE AND FLANGE

/
UCNBK200-15
3 225+0.05
ol 20 4-$18-926
‘ 200 ‘ 2-$16H7
e =
-0 N
———— S |
o O E § ; ?\ ol O
8 it Cets &
O 5
T &
M 5. 4
Y
32H7 63
60=+0.05
17|
Q.

N
S EERI
Lol //,/’ ,,:\’
o S
i o L - Z
2 3% A
/gu%:
o A X
= o
N
©
©
]
58]
63 (9 50 .>
(S Bl Cam Diagram
20 70
550,05 %\
6.3, N
ek
o
/ b
%‘/
g
g
+H
ol O
M| ©
A SV aV)
\ 2-¢16H7
4-$18-$26
J

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

) e

T | Working Force kN(tonf)Spring Force N(kgf)| Return | Slider
ragle W sf?"daprd wAlllpwagle Initial Final Force | Weight | Catalog No. W 6
'orkKing Force | Working Force
(onemillio?l strokes) (300,000gslrokes) Load | Load | N(kgf) kg
93.1 186.2 626.6 | 5639.4 7617
33.9 9.5) (19.0) | (63.9) | (575.1) | (7772 | 306 | UCNBK | 200 | 15
Q Order ‘ Catalog No. ‘ ‘ w ‘ - ‘ ‘
UCNBK 200 —
N AN Option e (&3 For key specification,
l" Option  coge Specificiiigy refer to page 737.
K Key attached for holder.
KA Metric key attached for holder.

Qe o UCNBK200-15-K

Refer to page 389 for detailed specifications of
tapped holes and dowel pin holes (prepared

hole, finish hole) for retainer.

Wl Table of Components

No.| Description |Qty/Material and Remark
(1 |Cam Slider 1 |FC250 with Graphite
(2 |Cam Driver 1 |FC250

(3 |Cam Holder 1 |FC250

@ |Upper Plate 2 |845C with Graphite
(®) |Positive Return Follower| 2 |S45C(1045)

(® |Stopper Plate 1 |S45C(1045)

(@ |Spring Guide Pin 4 |SCM435

Coil Spring 4 |TM30x 175

(9 |Stopper 4 |Urethane

Cam Bottom Slide Plate| 1 |S45C(1045)

(1 |Cam Bottom Guide Plate| 1 |Bronze with Graphite
(2 |Lower Plate 2 |Bronze with Graphite
@ |Plate 2 [S45C(1045)

(9 | Driver Plate 2 |Bronze with Graphite
22 |Screw Plug 2 |S45C M12

m Bolts for assembly are not indicated.

M Spring Diagram

*Spring used
*Spring constant
*Guideline of spring durability

TMB30-175 (4 piece)
31.33N/mm (3.19kgf/mm)
500,000 strokes

« : Spring Force at punch retraction of 5 mm

e : Spring return amount when the punch returns 5 mm

Final _5639.4
Load (575.1)
« _4900.0
(498.9)
Initial _626.6
Load (63.9) L1
Length at final load 130 e=5.9
Length at initial load 170 Initial deflection 5
Free length 175 !
M Space for removing

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

UCNBK
200

806



Aerial Cam Unit
( FOR PIERCE AND FLANGE ) E

4 N Workin i i
B g Force kN(tonf)|Spring Force N(kgf)| Return | Slider
UCNBK200-20 225005 P Travel Standard Allowable | [nitial | Final | Force | Weight | Catalog No. w
$18-¢ MCam Dlagram S Working Force|Working Force 9 9
20 200 4-#18-926 (one million strokes) | (300,000 strokes) | Load Load | N(kgf) kg
32H7 -
5 o - 2-$ 16H7 2 30.9 93.1 1862 | 4386 | 5117.0 | 6378 | oo | yengk | 200 | 20
C\ o _ : (95) (19.0) | (44.7) | (521.8) | (650.8) | =
HOr e -
=i {ﬁ S 2z [catalog No.|[ W |=[ o |
1 ‘ ] \ Order alalog To.
E 3 | 30,9 UCNBK 200 — 20
40 100
1 8 N AN Option e (&3 For key specification,
2 3 E : 4814388 k" Option Code SECCHC refer to page 737.
- A - ©
O 3 25| ©
E 3 =3 K Key attached for holder.
{*} © KA | Metric key attached for holder.
OH R
60:£0.05 6.3
18 240 (‘ order  UCNBK200 =20 - K

Refer to page 389 for detailed specifications of
tapped holes and dowel pin holes (prepared

hole, finish hole) for retainer.

W Table of Components M Spring Diagram

<) P : *Spring used TM30-150 (4 piece)

- o Degcrlptlon s, Mate"a! A Remark *Spring constant  36.55N/mm (3.73kgf/mm)
@ |Cam Slider 1 |[FG250 with Graphite eGuideline of spring durability 1,000,000 strokes
(2 |Cam Driver 1 |FC250

a : Spring Force at punch retraction of 5 mm
8 @ |Cam Holder 1|FC250 - - e : Spring return amount when the punch returns 5 mm
& @ |Upper Plate 2 |S45C with Graphite

o (®) |Positive Return Follower| 2 |S45C(1045) Final 5117.0

R (® |Stopper Plate 1 [S45C(1045) Load (521.8)
(@ |Spring Guide Pin 4 |SCM435 .
Coil Spring 4 [TM30 150 @ loke
(9 |Stopper 4 |Urethane Initial 438.6
Cam Bottom Slide Plate| 1 |S45C(1045) Load (44.7) [
1 |Cam Bottom Guide Plate| 1 |Bronze with Graphite Length atfinalload 15| | e=5.2
(2 |Lower Plate 2 |Bronze with Graphite Length at initial load 147 Initial deflection 3

20_ 70 @3 |Plate 2 |545C(1045) Free length 150
4-618-$262 I ) 9 | Driver Plate 2 |Bronze with Graphite .
6.3 N ss‘to.os 2-#16H7 22 |Screw Plug 2 |S45C M12 W Space for removing
m Bolts for assembly are not indicated.
o §
a8
[aY]
UCNBK
200
- /
807 808

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved. Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.



Aerial Cam Unit
( FOR PIERCE AND FLANGE )

e N Workin i i
_ g Force kN(tonf)|Spring Force N(kgf)| Return | Slider
UCNBK200-25 Trag/el WOSrE(?RdaFrgrce wéu?:wagcl’erce Initial Final Force | Weight | Catalog No. W 6
(onemillio?lslrokes) (300,000gslrokes) Load | Load | N(kgf) kg
@) 225:+0.05
3 4-$18-626 93.1 1862 | 438.6 | 5117.0 | 6860
20 200 . 32.0 9.5) (19.0) | (447) | (5218) | (700.0) | 299 [ UCNBK | 200 | 25
. .
O\ ST & ’Q order \Catalog No.H w ‘—‘ 6 ‘
& b UCNBK 200 — 25
‘ N AN Option e (&3 For key specification,
0 3 N k" Option Code Specificgigy refer to page 737.
— o g} - o ol ® ©
& E 3 8 N « K Key attached for holder.
3 128
‘ KA Metric key attached for holder.
A (‘ order  UCNBK200 - 25 -~ K

Refer to page 389 for detailed specifications of
tapped holes and dowel pin holes (prepared
hole, finish hole) for retainer.

M Spring Diagram

809

T,a'/e/

113.4
63

6.3
0
(4]
I+
o
=
&

\® \

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

Wl Table of Components

No.| Description |Qty/Material and Remark
(1 |Cam Slider 1 |FC250 with Graphite
(2 |Cam Driver 1 |FC250

(3 |Cam Holder 1 |FC250

@ |Upper Plate 2 |845C with Graphite
(®) |Positive Return Follower| 2 |S45C(1045)

(® |Stopper Plate 1 |S45C(1045)

(@ |Spring Guide Pin 4 |SCM435

Coil Spring 4 |TM30x 150

(9 |Stopper 4 |Urethane

Cam Bottom Slide Plate| 1 |S45C(1045)

(1 |Cam Bottom Guide Plate| 1 |Bronze with Graphite
(2 |Lower Plate 2 |Bronze with Graphite
@ |Plate 2 [S45C(1045)

(9 | Driver Plate 2 |Bronze with Graphite
22 |Screw Plug 2 |S45C M12

m Bolts for assembly are not indicated.

*Spring used TM30-150 (4 piece)
*Spring constant  36.55N/mm (3.73kgf/mm)
*Guideline of spring durability 1,000,000 strokes

« : Spring Force at punch retraction of 5 mm
e : Spring return amount when the punch returns 5 mm

Final _5117.0
Load (521.8)
« _4386.0
(447.6)
Initial_438.6
Load (44.7) 1
Length at final load 115 e=5.0
Length at initial load 147 Initial deflection 3
Free length 150 !
M Space for removing
UCNBK
200
810

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.



Aerial Cam Unit
( FOR PIERCE AND FLANGE ) E

g N Workin i i
_ g Force kN(tonf)|Spring Force N(kgf)| Return | Slider
UCNBK200-30 Travel Standard Allowable Initial Final Force | Weight | Catalog No. W 6
205 S Working Force|Working Force N(kaf K
£008 Bl Cam Diagram (one millon strokes)| (300,000strokes) | Load | Load (kgf) 9
20 200 4-$18-$26
93.1 186.2 350.9 | 5614.1 6940
o] | ey / 2-d16H7 %ﬂ/\ 35 | 95 | (190 | (358) | (5725) | (ros.2) | 2% | UCNBK | 200} 30
(e}
| . - Iz
(A W 2 2 -
@\ Q L {k - R \ Order [catalog No.|[ W |—[ 6 |
sl - Sy Dt 8 UCNBK 200 — 30
(] N AN Option e (&3 For key specification,
O 3 N k" Option Code Specificgigy refer to page 737.

o| o | 0 2 o o

= o —F-4+H- - el g L @ ©

N 0! T - gl & & K Key attached for holder.
: 25| =
- l s KA | Metric key attached for holder.
Ol O ,

Qe o UCNBK200-30-K

Refer to page 389 for detailed specifications of
tapped holes and dowel pin holes (prepared
hole, finish hole) for retainer.

W Table of Components M Spring Diagram
P : *Spring used TMB30-125 (4 piece)
o Degcrlptlon s, Mate"a! A Remark *Spring constant  43.86N/mm (4.47kgf/mm)
9 @ |Cam Slider 1 |FC250 with Graphite *Guideline of spring durability 1,000,000 strokes
| (2 |Cam Driver 1 |FC250
a : Spring Force at punch retraction of 5 mm
®|Cam Holder 1 |FC250 e : Spring return amount when the punch returns 5 mm
o @ |Upper Plate 2 |845C with Graphite
2 —
& (®) |Positive Return Follower| 2 |S45C(1045) Final 5614.4
(® |Stopper Plate 1 [S45C(1045) Load (572.5)
(@ |Spring Guide Pin 4 |SCM435
< - - 4824.6
9 Coil Spring 4 |TM30x 125 a 491.7)
- (9 |Stopper 4 |Urethane Initial 350.9
Cam Bottom Slide Plate| 1 |S45C(1045) Load "(35.8) ]
1 |Cam Bottom Guide Plate| 1 |Bronze with Graphite Lengtatfinalload 93| | e=4.5
(2 |Lower Plate 2 |Bronze with Graphite Length at initial load 123 Initial deflection 2
@3 |Plate 2 |845C(1045) Free length 125 ‘
4-$18-626 2 55\+0 o 2-$16H7 9 |Driver Plate 2 |Bronze with Graphite
63 — 22 |Screw Plug 2 |S45C M12 ESpace for removing
m Bolts for assembly are not indicated.
ol %
&g
(8
UCNBK
200
- /
811 812

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved. Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.



Aerial Cam Unit
( FOR PIERCE AND FLANGE ) E

UCNBK200-35 N Travel Working Force kN(tonf) Spri.n.g Force !\l(kgf) Return Slifier
2 | i | Mowwle el | Finar | Force | weight | CatslogNo. | W | g
§D = 4-$18-$26 (one millon stokes)| (300,000strokes) | Load | Load | N(kgf) kg
2-416H7 93.1 186.2 350.9 | 5614.1 7450
353 (9.5) (19.0) | (35.8) | (572.5) | (760.2) | 309 | UCNBK | 200 | 35
Q Order ‘Catalog No.H w ‘—‘ [} ‘
UCNBK 200 — 35
g N AN Option e (&3 For key specification,
3 t" Option Code Specificgigy refer to page 737.
K Key attached for holder.
KA Metric key attached for holder.

6.3

order  UCNBK200-35- K

Refer to page 389 for detailed specifications of
tapped holes and dowel pin holes (prepared

280

hole, finish hole) for retainer.
W Table of Components M Spring Diagram
. i *Spring used TM30-125 (4 piece)

2 o Desprlptlon Qi Mate"a! and Remark *Spring constant  43.86N/mm (4.47kgf/mm)
@ |Cam Slider 1 |FC250 with Graphite *Guideline of spring durability 1,000,000 strokes

5 (2) |Cam Driver 1 |FC250

&) a : Spring Force at punch retraction of 5 mm

9"@ ®|Cam Holder 1 |FC250 e : Spring return amount when the punch returns 5 mm

o @) |Upper Plate 2 |S45C with Graphite
o N (5 |Positive Return Follower| 2 |S45C(1045) Final 5614.1
@ (® |Stopper Plate 1 |S45C(1045) e (572.5)
(@ |Spring Guide Pin 4 |SCM435 18772
Coil Spring 4 |TM30x 125 & @97y
(9 |Stopper 4 |Urethane Initial 350.9
68 Cam Bottom Slide Plate| 1 |S45C(1045) Load (35.8) | [
1 |Cam Bottom Guide Plate| 1 |Bronze with Graphite Lengthatfinalload 93| | e=4.2
(2 |Lower Plate 2 |Bronze with Graphite Length at initial load 123 Initial deflection 2
am Diagram @3 |Plate 2 |S45C(1045) Free length 125 !
20 70 g
§>55 s 20 9 |Driver Plate 2 |Bronze with Graphite
+o. 63 /“\ ﬂ @ |Screw Plug 2 |S45C M12 ESpace for removing
\ m Bolts for assembly are not indicated.
3 9
A \ /
UCNBK
200
/
814

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved. Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.



Aerial Cam Unit
( FOR PIERCE AND FLANGE )

4 N Workin i i
_ g Force kN(tonf)|Spring Force N(kgf)| Return | Slider
UCNBK200-40 2254005 Trag/el | Sandad | Alowoble | Inital | Final | Force | Weight | CatalogNo. | W .
- (| {
20 200 4-$18-$26 B Cam Diagram {ono il sokes) (300000 stokes) | Load | Load | N(kgf) | kg
pe 82H7 2-#16H7 93.1 1862 | 3509 | 5614.1 | 6877
©\ | rﬂ'\ L/ﬂ 39.0 9.5) (19.0) | (358) | (5725) | (7o17) | 302 | UCNBK | 200 | 40
N N AL
O L | < -
=T E L g N = [catalog No.|[ W |- & |
[ ‘ -] N . Order
N % 8 UCNBK 200 — 40
: ~0 SR
3 y N P Option e (&3 For key specification,
o o U 3 S o o k" Option Code SECCHC refer to 737
= 0 B I o 1 H @ © page .
N - |: 3 R-—o- g Y
E 3 28 K Key attached for holder.
L ¥
} LA KA Metric key attached for holder.
63 -
17 240 Order UCNBK200-40-K

Refer to page 389 for detailed specifications of
tapped holes and dowel pin holes (prepared

815

hole, finish hole) for retainer.
9 W Table of Components B Spring Diagram
P : *Spring used TMB30-125 (4 piece)
o Degcrlptlon s, Mate"a! A Remark *Spring constant  43.86N/mm (4.47kgf/mm)
@ |Cam Slider 1 |FC250 with Graphite *Guideline of spring durability 1,000,000 strokes
(2 |Cam Driver 1 |FC250
Q a : Spring Force at punch retraction of 5 mm
& ®|Cam Holder 1 |FC250 e : Spring return amount when the punch returns 5 mm
@ |Upper Plate 2 |845C with Graphite
= (®) |Positive Return Follower| 2 |S45C(1045) Final 5614.1
g (® |Stopper Plate 1 [S45C(1045) Load (572.5)
N (@ |Spring Guide Pin 4 |SCM435
Coil Spring 4 | TM30% 125 a« %
(9 |Stopper 4 |Urethane Initial 350.9
Cam Bottom Slide Plate| 1 |S45C(1045) Load (35.8) [
(1 |Cam Bottom Guide Plate| 1 |Bronze with Graphite Length'atfinall0ad 93| | e=3.8
(2 |Lower Plate 2 |Bronze with Graphite Length at initial load 123 Initial deflection 2
20 70 13 |Plate 2 |S45C(1045) Free length 125 !
4-$18-$26 I = - .
o 55+0.05 2-$16H7 (9 | Driver Plate 2 |Bronze with Graphite
' @ |Screw Plug 2 |S45C M12 HSpace for removing
m Bolts for assembly are not indicated.
&
(=] +
g g
8V}
UCNBK
200
/
816

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.



817

Aerial Cam Unit

)

/
UCNBK200-45

)

©

¢ FOR PIERCE AND FLANGE
225+0.05
20 200

4-$18-9$26
2-$16H7

o =
b -—O—-1 &
[es]
25 ~
e
P Y
KD
17 240
Q.
>
3 @D 4o
83/ 2 5 ’r\
o ‘
99 Tl - A\
0 - AT o o
o I kit ] 0
6“\?
o
& 7.
ON
& ¥
g 8
|O)
/o
20 70
|
@ 55:£0.05
6.3
o
©
[aV)
2-$16H7
4-$18-926

‘/30/1

2
,b’b

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

T | Working Force kN(tonf)Spring Force N(kgf)| Return | Slider
ragle WOSrE(quaFrgrce W cﬁlllpr\'uagcl’erce Initial Final Force | Weight | Catalog No. W 6
(| I
(onemillio?l strokes) (300,000gslrokes) Load | Load | N(kgf) kg
93.1 186.2 350.9 | 5614.1 7379
422 (9.5) (19.0) | (35.8) | (5725) | (753.0) | 319 | UCNBK | 200 | 45
Q Order ‘ Catalog No. ‘ ‘ w ‘ - ‘ [} ‘
UCNBK 200 — 45
N AN Option e (&3 For key specification,
l" Option  coge Specificiiigy refer to page 737.
K Key attached for holder.

KA

Metric key attached for holder.

order  UCNBK200 - 45 -K

Refer to page 389 for detailed specifications of
tapped holes and dowel pin holes (prepared
hole, finish hole) for retainer.

Wl Table of Components

No.| Description |Qty/Material and Remark
(1 |Cam Slider 1 |FC250 with Graphite
(2 |Cam Driver 1 |FC250

(3 |Cam Holder 1 |FC250

@ |Upper Plate 2 |845C with Graphite
(®) |Positive Return Follower| 2 |S45C(1045)

(® |Stopper Plate 1 |S45C(1045)

(@ |Spring Guide Pin 4 |SCM435

Coil Spring 4 |TM30x 125

(9 |Stopper 4 |Urethane

Cam Bottom Slide Plate| 1 |S45C(1045)

(1 |Cam Bottom Guide Plate| 1 |Bronze with Graphite
(2 |Lower Plate 2 |Bronze with Graphite
@ |Plate 2 [S45C(1045)

(9 | Driver Plate 2 |Bronze with Graphite
22 |Screw Plug 2 |S45C M12

m Bolts for assembly are

not indicated.

*Spring used
*Spring constant

*Guideline of spring durability

M Spring Diagram
TM30-125 (4 piece)
43.86N/mm (4.47kgf/mm)
1,000,000 strokes

a : Spring Force at punch retraction of 5 mm
e : Spring return amount when the punch returns 5 mm

Final 5614.1
Load (572.5)

o 49825
(507.8)

Initial _350.9
Load (35.8)

Length at final load 93 e=3.6
Length at initial load 123

Initial deflection 2

Free length 125

M Space for removing

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.

UCNBK
200

818



Aerial Cam Unit
( FOR PIERCE AND FLANGE ) E

/UCNBK200—50 N Travel Wcs>rking Force kN(tonf) Spri.n.g Force !\l(kgf) Return S|i.der
tandard Allowable Initial Final Force | Weight | Catalog No. w 6
225+0.05 n . & ?Nork-h'-‘ 9 Ftoace) %%%gr?(rc)e Load Load | N(kgf) kg
20 200 4-$18-926 cam Dlagram one million Strokes ,000 strokes,
93.1 186.2 350.9 | 5614.1 7342
o 9 32H7 2-416H7 F—’SO 467 (9.5) (19.0) | (35.8) | (572.5) | (7a9.2) | 324 | UCNBK | 200 | 50
A\ Sl € o [Comon vl [ w |- o |
i ) oe]
‘ . 9 . UCNBK 200 — 50
O SN S N P Ol (S For key specification
[ 3 l'j Option Code Specificgigy refer to page 737.
E 2 K Key attached for holder.
KA Metric key attached for holder.
802005 & order UCNBK200 =50 - K
16 240

Refer to page 389 for detailed specifications of
tapped holes and dowel pin holes (prepared

3 hole, finish hole) for retainer.

W Table of Components M Spring Diagram

Q P : *Spring used TMB30-125 (4 piece)

© o Degcrlptlon s, Mate"a! A Remark *Spring constant  43.86N/mm (4.47kgf/mm)
@ |Cam Slider 1 |FC250 with Graphite *Guideline of spring durability 1,000,000 strokes
(2 |Cam Driver 1 |FC250

« : Spring Force at punch retraction of 5 mm
o ®|Cam Holder 1 |FC250 e : Spring return amount when the punch returns 5 mm
Q @ |Upper Plate 2 |845C with Graphite
7 (®) |Positive Return Follower| 2 |S45C(1045) Final 5614.1

~ (® |Stopper Plate 1 [S45C(1045) Load (572.5)

2 (@ |Spring Guide Pin 4 |SCM435

- Coil Spring 4 [TM30% 125 « %
(9 |Stopper 4 |Urethane Initial 350.9
Cam Bottom Slide Plate| 1 |S45C(1045) Load (35.8) [l
1 |Cam Bottom Guide Plate| 1 |Bronze with Graphite Lengt'atfinal load 93| | e=3.2
(2 |Lower Plate 2 |Bronze with Graphite Length at initial load 123 Initial deflection 2

5. 20 70 @3 |Plate 2 |845C(1045) Free length 125 ‘
4-418-$26 97|55, s 2. 416H7 (9 | Driver Plate 2 |Bronze with Graphite ]
63 22 |Screw Plug 2 |S45C M12 ESpace for removing
m Bolts for assembly are not indicated.
§ ?:3' 132
o
UCNBK
200
/
820

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved. Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.



Aerial Cam Unit
( FOR PIERCE AND FLANGE ) E

g N Working Force kN(tonf)|Spring Force N(kgf i
UCNBK200-55 Travel ¢} (tonf)|Sp : 9 .( 9f)| Return Sllfier
Standard Allowable Initial Final Force | Weight | Catalog No. w 6
S Working Force (Working Force N(kaf K
> 205005 (one millon strokes) | (300,000 strokes) | Load Load (kgf) )
“Tag 200 4-916-$26 93.1 186.2 350.9 | 5614.1 | 7989
@\ 2-416H7 523 (9.5) (19.0) | (35.8) | (5725) | g15.2) | 319 | UCNBK | 200 | 55
{ i 7
( QOrder ‘Catalog No.H w ‘_‘ 6 ‘
E O@\ UCNBK 200 55
o g'/é ) Option — (&3 For key specification,
o o U : 9 o o o L (V] Option Code Specificiiy refer to page 737.
89 A0 %18 8§ Y EF
E = 2 =ry K Key attached for holder.
E q\ : 40
V2
@ | SRS - 5 O KA Metric key attached for holder.
32H7 P %
sosom Qe o UCNBK200-55-K
16 240 Refer to page 389 for detailed specifications of
tapped holes and dowel pin holes (prepared
hole, finish hole) for retainer.
g[ W Table of Components HESpring Diagram
P : *Spring used TM30-125 (4 piece)
o o Degcrlptlon s, Mate"a! A Remark *Spring constant  43.86N/mm (4.47kgf/mm)
i @ |Cam Slider 1 |FC250 with Graphite *Guideline of spring durability 1,000,000 strokes
(2 |Cam Driver 1 |FC250
3 |Ccam Holder 1 |FC250 a : Spring Force at punch retraction of 5 mm
- - e : Spring return amount when the punch returns 5 mm
@ |Upper Plate 2 |S45C with Graphite
S ® |Positive Return Follower| 2 | S45C(1045) ,
) Final 5614.1
L5 (® | Stopper Plate 1 |S45C(1045) Load (572.5)
2 (@ |Spring Guide Pin 4 |SCM435 1053
- Coil Spring 4 [TM30x 125 «
(9 |Stopper 4 |Urethane Initial 350.9
Cam Bottom Slide Plate| 1 |S45C(1045) Load (35.8) [
(1 |Cam Bottom Guide Plate| 1 |Bronze with Graphite Length atfinal lad 93] | _e=2.9
(2 |Lower Plate 2 |Bronze with Graphite Length at initial load 123 Intial deflection 2
. 13 |Plate 2 |S45C(1045) Free length 125 ‘
BCam Diagram @9 |Driver Plate 2 |Bronze with Graphite
30 22 |Screw Plug 2 |S45C M12 ESpace for removing
‘ m Bolts for assembly are not indicated.
S
o
134
UCNBK
200
o %
821 822

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved. Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.



Aerial Cam Unit
( FOR PIERCE AND FLANGE ) E

(" N Working Force kN(tonf)| Spring Force N(kgf)| Return | Slider
UCNBK200-60 Travel — - »
225005 Standard | Allowable | nitial | Final | Force | Weight | CatalogNo. | W 0
— S Working Force (Working Force Load Load N(kgf) kg
20 200 4-418-$26 (one million strokes) | (300,000 strokes)

32H7 2-$16H7 60.0 93.1 186.2 350.9 | 5614.1 8829

9.5) (19.0) | (35.8) | (572.5) | (900.9) | 335 | UCNBK | 200 [ 60

B Cam Diagram

¥,

‘Catalog No.H w ‘—‘ [} ‘

i 177 30 - Order
\ ‘0 UCNBK 200 — 60

a N AN Option e (&3 For key specification,
(] 3 N k" Option Code Specificgigy refer to page 737.
2 3 777——7—777——““’{—4%— I §
25| T K Key attached for holder.
|

KA Metric key attached for holder.

(“ order UCNBK200 - 60 - K

Refer to page 389 for detailed specifications of
tapped holes and dowel pin holes (prepared

hole, finish hole) for retainer.
W Table of Components M Spring Diagram
P : *Spring used TM30-125 (4 piece)
o Degcrlptlon s, Mate"a! A Remark *Spring constant  43.86N/mm (4.47kgf/mm)
@ |Cam Slider 1 |FC250 with Graphite *Guideline of spring durability 1,000,000 strokes
(2 |Cam Driver 1 |FC250
3 |Cam Holder 1 |[FC250 a : Spring Force at punch retraction of 5 mm
e : Spring return amount when the punch returns 5 mm
a @) |Upper Plate 2 |S45C with Graphite
(®) |Positive Return Follower| 2 |S45C(1045) Final 5614.1
(® | Stopper Plate 1 |S45C(1045) Load (572.5)
(@ |Spring Guide Pin 4 |SCM435 S1755
Coil Spring 4 |TM30x 125 « 5275
(© |Stopper 4 |Urethane Initial 350.9
Cam Bottom Slide Plate| 1 |S45C(1045) Load (35.8) [
(1 |Cam Bottom Guide Plate| 1 |Bronze with Graphite Length'atfinall0ad 93| | e=2.5
(2 |Lower Plate 2 |Bronze with Graphite Length at initial load 123 Initial deflection 2
4-$18-$26 Q55 ¢ oo 2.$16H7 @ |Plate 2 |$45C(1045) Free length 125
6.3 (9 | Driver Plate 2 |Bronze with Graphite
22 |Screw Plug 2 |S45C M12 ESpace for removing
m Bolts for assembly are not indicated.
(8}
UCNBK
200
- /
823 824

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved. Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.



Aerial Cam Unit
( FOR PIERCE AND FLANGE ) E

g N Working Force kN(tonf)|Spring Force N(kgf i
UCNBK200-65 Travel ¢} (tonf)|Sp : 9 .( 9f)| Return Sllfier
s WOSrE(?RgaFrgrce wéu?rréagcl’erce Initial Final Force | Weight | Catalog No. W 6
(one million strokes) | (300,000 strokes) | Load Load | N(kgf) kg
93.1 186.2 350.9 | 5614.1 9961
9 225005 4-18-626 70.9 9.5) (19.0) (35.8) | (572.5) | (1016.4) 31.9 UCNBK 200 65
5 200 2-$16H7 .
C\ Q Order [catalog No.|[ W |- & |
,,,,,,,,,,,,,,,,, UCNBK 200 — 65
4
! {E} - i
| G \\'// Option . (&3 For key specification,
i =) N A )
(] | ‘_Q\ (V] Option Code Specificgigy refer to page 737.
C Y g
E 3 Efﬂ E*% § § : K Key attached for holder.
E | KA Metric key attached for holder.
S
order UCNBK200-65-K
Refer to page 389 for detailed specifications of
e tapped holes and dowel pin holes (prepared
o hole, finish hole) for retainer.
>
63 <) W Table of Components M Spring Diagram
P : *Spring used TM30-125 (4 piece)
81 #I_ J o Degcrlptlon s, Mate"a! A Remark *Spring constant  43.86N/mm (4.47kgf/mm)
5 - ( |Cam Slider 1 |FC250 with Graphite eGuideline of spring durability 1,000,000 strokes
20 (2 |Cam Driver 1 |FC250
a : Spring Force at punch retraction of 5 mm
O/ ® |Cam Holder 1 |[FC250 e : Spring return amount when the punch returns 5 mm
7, @) |Upper Plate 2 |S45C with Graphite
§ (®) |Positive Return Follower| 2 |S45C(1045) Final 5614.1
(® |Stopper Plate 1 [S45C(1045) Load (572.5)
(@ |Spring Guide Pin 4 |SCM435 0457
o Coil Spring 4 [TM30x 125 g
(9 |Stopper 4 |Urethane Initial 350.9
T ‘ Cam Bottom Slide Plate| 1 |S45C(1045) Load (35.8) [
“’I m[ 81 1 D |Cam Bottom Guide Plate| 1 |Bronze with Graphite Lengihatfnal load 93| | _e=2.1
63 5 (2 |Lower Plate 2 |Bronze with Graphite Length at initial load 123 | Initial deflection 2
\4
> 20 70 BMCam Diagram (E] P|’:.1'(e 2 3450(104.15) : Free length 125
> 2-616H7 (9 |Driver Plate 2 |Bronze with Graphite
©55:£005 o 30 @|Screw Plug 2 [S45C M12 B Space for removing
- m Bolts for assembly are not indicated.
N\ @
<
©\| 9 &
g
| O
| & &
4-$18-426
UCNBK
200
- /
825 826

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved. Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.



Aerial Cam Unit
( FOR PIERCE AND FLANGE )

/UCNBK200—70 N T | Working Force kN(tonf)Spring Force N(kgf)| Return | Slider
225:+0.05 ra;/e Wosrf(@r?daFrgrce W ‘;Arlllpr\luagcl’erce Initial Final Force | Weight | Catalog No. w 6
(| I
20 200 4-$18-$26 (onemilionsholeg)| 300000 strokes) | Load | Load | N(kgf) | kg
3 32H7 2-416H7 BCam Diagram 65 93.1 1862 | 1096.6 | 54830 | 11253 | oo | yongk | 200 | 70
@\ 11 _ 2 : (9.5) (19.0) | (111.8) | (559.1) |(1148.2) :
1NN @ T .
| i Q ‘Catalog No.H w ‘—‘ [} ‘
‘ Order
E UCNBK 200 — 70
» - -
o @ < g'é ) Option N (&3 For key specification,
2 3 E} L 28 8 o S U | Code pecification refer to page 737.
2 E S
E K Key attached for holder.
KA Metric key attached for holder.
60+0.05 6.3
16 240 order UCNBK200-70-K
6a/ ® Q;\ Refer to page 389 for detailed specifications of
= tapped holes and dowel pin holes (prepared
mI hole, finish hole) for retainer.
o - . .
® fg W Table of Components M Spring Diagram
o = = No| Description |Qty/Material and Remark  °SPring used TM30-100 (4 piece)
»4@ — - - - *Spring constant  54.83N/mm (5.59kgf/mm)
C9/ = O ( |Cam Slider 1 |FC250 with Graphite *Guideline of spring durability 1,000,000 strokes
g ) (2)|Cam Driver 1 |[FC250
a : Spring Force at punch retraction of 5 mm
« ®|Cam Holder 1 |FC250 e : Spring return amount when the punch returns 5 mm
) @ |Upper Plate 2 |845C with Graphite
2 (®) |Positive Return Follower| 2 |S45C(1045)
- Final 5483.0
(® |Stopper Plate 1 [S45C(1045) Load (559.1)
(@ |Spring Guide Pin 4 |SCM435 5102
8 g Coil Spring 4 |TM30x 100 o
A @ (© |Stopper 4 |Urethane Initial 1096.6
Cam Bottom Slide Plate| 1 |S45C(1045) Load (111.8) [
1 |Cam Bottom Guide Plate| 1 |Bronze with Graphite Lengtatfinal load 75| | e=1.7
4-$18-$26 (2 |Lower Plate 2 |Bronze with Graphite Length at initial load 95 Initial deflection 5
T ea) 13 |Plate 2 |S45C(1045) Free length 100 !
(9 | Driver Plate 2 |Bronze with Graphite
22 |Screw Plug 2 |S45C M12 ESpace for removing
m Bolts for assembly are not indicated.
)
ol
&g
« 142
UCNBK
200
o %
827 828

Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved. Copyright © Sankyo Oilless Industry, Inc. All Rights Reserved.





